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— «Multiple-Choice ( &bﬁ) Choose the one.aliernative that best completes the statement or answers the question.

/, Although some of the statements below are true of both normal goods and
inferior goods, only one of the statements defines a normal good. Which
one?

(A} Normai goods are those for which the income effect is pdsitive.

{B) Normal goods are those for which the income effect is negative.

{C) Normal goods are those for which the substitution effect overrides the
income effect.

(D) Normal goods are those for which the income effect overrides the
substitution effect.

{E) Normal goods are those for which demand increases when price

increases.

2‘ Which of the following will not cause a demand curve to shift position?
(A) a doubling ol: the good's price.
(B) a doubling of income.
{C) a doubling of the price of a closely substitutable goods.
(D) a deubling of preference.

3 The demand for radios is measured by Qp = 60— (-;-)P , and the supply of

vadios is measured by Qs = (l)P ~10. Assume that the radio market is
: 2

pecfectly competiti\}e. “I'te equilibrium price of radio is, and the

equilibrium quantity is

,Suppose now Lhat the government sels a price
ceiling of $40. This will cause___- '

{A) 570 - 25: a shortage of 30 radios.

(B) $70 + 25; the price and quantity of radios not change.

{C) 350 r 40; a shortage of 30 radios.

(D) 530 » 80; a surplus of 50 radios.

(E) $30 + 80; the price and quantity of radios not change.

["[,_ With only two goods, X and Y,if X and Y are pross substitues, a rise in Px
' must necessarily
(A) increase spending in X,
(B) increase spending in Y.
(C) reduce spending in X.
(D) reduce spending in Y.

«f' In the tea harvest is bad in a particular year, what should happen
in the market for coffee ?
(A) Increased prices and decreased quantity.
(B) Increased prices and increased quantity.
(C) Decreased prices and increased quantity.
(D) Decreased prices and decreased quantity.

(E) No change in equilibrium price and quantity.

é . IF policymakers desire to reduce the quantity of water demandéd by 20%,
and water has an elasticity coefficient of 0.5, then the price of water must be
(a) increased by 10%.
{b) increased by 20%.
(¢) reduced by 10%.
(d) increased by 40%.
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7, A “good friend” is someone who has a_____price elasticity of demand for
your companionship.
{A) both (B} and (C) {B) low
{C) none of the above (D) high

{E) unit.

& A decrease in the supply of a factor of production will
(A) decrease factor income if the elasticity of demand is greater than |.
(B} decrease factor income if the elasticity of demand is less than 1.
(C} always decreasc the factor income.

(D) always increase the factor income,

?f A production possibilities curve depicts the maximum amount of two goods
that can be preduced if
(A) all resources are fully employed.
(B) the prices of the two goods are identical.
(C) the costs of preduction are held constant.
{D) the capital stock remains fixed while labor varies,

{E) resources are perfect substitutes.

/0, Anincrease in the taxes a firm must pay witl
{A) cause a firm's revenues to decrease,
(B) shift the irm’'s cost curve dowmn.
(C) shift the firm’s cost curve up.
(D) bave ne effect on the firm’s cost of doing business.
/7. Inaperfectly competitive market, which slatement is false?
{A) The average revenue curve the firm faces is bigher than the marginat
revenue curve it faces.
(B) The demand curve the firm faces is also its average revenue curve.
(C) A representative {irm is a typical, or “average” firm.
(D) The firm’s shart-run supply curve is its marginal cost curve,
(E} The firm maximizes prefits by producing where marginal cost is equal

to tmarginal revenue.

level of output at which price equals:
(A} marginal cost. (B) marginal revenue.
{C) total revenue. (D) total cost.

(E) average variable cost,

/j Compared to pure competition, monopoly is inefficient because the
' monopolist
(A) produces less product than is socially ideal.
(B) expropriales some or all of the buyer’s consumer surplus.
(C) charges a price thal exceeds marginal cost. .
(D) all of the above.

J¢ 11 a monopoly is maximizing profits
’ (A) price will always be greater than average cost.
(B) price will always be greater than marginat cost,
(C) price will always equal marginal cost,

(D) price will always cqual marginal revenue,

/2. The profit-maximizing condition for a competitive firm is to produce tha

,{J:The more successful a firm is in differentiatiog its product from its
compelitors’ product in 2 monopolistically competitive market
{A) the more elastic the demund curvefacing the firm will be.
{B) the mare inelastic the demand curve facing the firm will be.
{C} the more control the firm will have over its price,
(D) (A} and (C)
(E) (B)and (C)

lé Producer surphus differs from profit in that
(A) producer surplus includes fixed costs.
{B) producer surplus includes variable costs.
(C) fixed costs are not relevant to profit.
(D) profit is larger than ;Qfoducer surplus.

(E) profit is the sum of producer and consumer surplus.

/;( A firmt whose production function displays increasing returns to scale will
have 4 total cost curve that is -
{A} a straight Jine through the origin.
{B) a curve with positive and continually decreasing slope.
{C) a curve with positive and continually increasing slope.

{D3) a curve with negative and continually decreasing slope.

(é‘.Which of the foliowing makes economies of scale more likely?

{A) Large variable costs (B) Large startup costs

(C) Large marginal costs (D) little technological development

{E) Labor-intensive production methods

'(7‘The average productivity of labor reaches its maximum
(A) at the point of inflection of the total product line.
(B} where the slope of the total product curve is steepest.
{C) where the slope of the total product curve is zera.

(D) where marginat and average productivity are equal.

>, The marginal product of Jabor declines because of the law of:
(A) opportunity costs.
(B) declining average product.
{C) dirninishing returns. |
(D) declining value of marginal product.

(E} diminishing marginal utility.

2/ The opportunity cost of holding money is
{A) The real rate of interest.
(B) the inflation rate.
(C) the nominal interest rate.
(D} zero, because money does not cost anything.
{E) one dollar.

mAccording to “supply-side” economists, the aggregate supply curve can be
shifted to the right by:

(A) higher income taxes. (B) more regulation of industry.

(C) a higher inflation rate. (2} lower income taxes.

(E) a lower inflation rate.
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23 Suppose the current equilibrium price for pizza is $5. If the
federal government decides the price of pizza should be setor
frozen at $4, the result of this policy would be
(A} a shortage, where at the freeze price ($4) the quantily
demanded would exceed the quantily supplied.

(B} a surplus, where at the frecze price (34) the quantity
demanded would be less than the quantity supplied.

{C) that the market would remain in equilibrium but with a larger
quantity bought and sold at $5.

{D) at the freeze price (34) the quantity sold would be greater
than the quantity bought.

(E) at the equilibriur_n price of $5, more units would be sold.

3{.Expenditures that have already becn made and cannot be recovered no

matter what choice is made are called:

(A) marginal costs, (B) sunk costs.

(C} total costs. (D) opportunity costs.
{E) external costs.

24, Jacqueline, a brilliant new Ph.D. in economics, has turned down
many job offers because she hopes eventually to teach at one of
the top :;:r_) univessities in her field. The type of unemployment
she is experiencing is
(A) frictional.

(B) structural,
(£} seasonal.
(D) cyclical.

{E) underemployment.

4. The “pasural” rate of unkemployment is where
{A) just about everyone is employed.
(B) unemployment causes no real hardship.
(C) a further reduction in the unemployment rate tends 1o be accompanied
by rising inflation.

(D) the trade deficit is roughly zero.

.17- Structural unemployment is due 1o
(A} technology change or foreign competition,
(B) normal labor market turnover.
(C) a slowdown in the pace of economic expansion.

(D} irresponsible or poor work habils of workers.

2§, Which of the following statements about the views of the classical

cconemists is False?

(2) They belicved that any inveluntary unemployment had to be a short-term

phenomenon,

(b) They believed that Iowér interest rates would encourage investment
spending.

(c) They supported an expanded role for govemment in combating

unemployment when it arose,

(d) They belicved that the appearance of labor surpluses would cause wages.

to fall.

2¢.Externalities are examples of market failure.
{A) because a1l of the cosis and benefits of producing 2 good are reflected
in the mazket price.
(B) only if they are negative; postitive externalitics are not market failures.
.(C) because profits are not maximized.
{D) because losses are minimized.
(E} because some of the costs and benefits of preducing 4 good are not

reflected in the market price.

20 1t is generally conceded that used-car prices are below the price for similar
cars because “lemons™ are more likely to be traded in than prublem-free cars,
This highlights she phenomenon known as:

" (A) adverse selection. (B) moral hazacd.
(C) free riding. {D) commeon property.
(E) externality. '

3. Individuals who use all available information to make forecasts of future

prices have
{A) static expectations _ (B) rational expectations
{C} adaptive expectations (D) all of the above

{E) nonc of the above.

32 Econamic growth is illustrated by: .
_{A) a movement toward the production possibilities curve.
(B)a movement down aiong the production possibilities curve,
(C) an movement up along the production possibilities curve.
(D) a change in the slope of the production possibilities curve.
(E) a rightward shifi in the production possibilities curve.

33 The theery that peoﬁ[u save in good years fo provide for extra consumption
in bad years is called 1he
(A) Keynesian consumption function
(B} life-cycle hypothesis
{C) permanent income hypothesis
(Dyaandb
(E) all of the ubove.

3¥ Classical economists believed that if planned investment were
greater than planned saving, the interest rate would causing
planned saving to

and planned investment to untjl the two were equal.

(A) rise; decrease; increase
(B fall; decrease; increase .
(C) fall; increase; decrease
(D} rise; increase; decrease

{E) fall; increase; increase

3£ In a model with 2 proportional income tax, t, real disposable income
equals,
(A) t x real GDP, (B}{1 - ) x real GDIP.
{C) real GDPA. () real GDP/(1 - 1)
(E) feal GDP - (1 - 0)




B S Lok L AR A R A A R

#8: &g [~FmALL]

s Ua 2 lfx

3¢, Pulicy actions that shifl the 2ggregate demand curve in the same direction 37 The ‘crowding out' phenomenon refers to the fact that

are
(A) increases in the money supply ?.nd in {ax rates.

{2) increased government spending can lead to higher interest rates and

thereby reduce investment.

(B) increases in transfer payments and in the money supply- () higher tax rates can ledd to lower consumption spending by houscholds

(C) decrease in the money supply and in tax rates.

» and a lower level of equilibrivm income.

(D) increnses in sales of government securities and in trans{er payments. (c) the multiplier effect is smaller for increases in government spending than

for increases in investment spending.

37 When the supply and demand for moncy arc included in the Keynesian (d) businesses now provide many of the services househalds once provided

meodel, the spending multiplier is

for themselves.

(A) unaffected.
(B) smaller than when the money sarket is not included, because rising 40 Which of the following is considered a liability for 2 bank?
interest rates increases investment. (A} U.S. government securitics
{€) larger than when the money market is not included, because rising {B) Deposits with the Fed
interest rates increase investment. (C) Checkable deposits
{D) larger than when the money market is not included, because rising (D) Consumer and business loans
interest rates decrease investment. (E) Building and furniture -

(E) smaifer than when the money market is not included, breause rising

interest rates decrease investment.

32 Which of the following is not 2 leading economic indicator?
{A) Construction of new housing (B) Total consumer spending
{C) Stock markets index (D) Money supply M1

(E) Number of new firms stasted.

= MEAHE  (20F)

In the Keynesian cross, assume that the consumption function is given by

C=200+0.75{Y-T).
Planned investment is 100; government purchases and taxes are both 100.

a. Graph planned expenditure as a function of income.
b. What is the equilibrium level of income?

e. If government purchases increase to 125, what is the new equilibrium

. r
income?

d. What level of government purchases is needed to achieve an income of
1,600?
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Show your work.

1. Find E‘K where
dx

a y=(x-ty
X
b xz:’} +}}21'3 =1

c.y=e"+e" x>0, 15%

2. Graphthe function  f(x)=2-(x—3)"*. State all the extrema, critical

peints, increasing and decreasing, concave up and/or down intervals. 15%

3. Find the following definite and indefinite integrations. 23%

o d o dx

a. !jix— b. !(—h—_-—f)ﬁ c. _[x[nxdx
| dx 1 ¥
sz e e 5[3.?[);@ thedy

4. Determine if the following converge. 1f yes, please find the limit(s). 15%

J.\'_ -ix )
a limE———% limvx’-9 ¢ Z !

Yo 2x 3 TR+ fn

5. Give a bound of error when e” is approximated by its 4" degree Taylor
polynomial for —~0.5<x<0.5. T15%

6. Ko/ NIEAE 1970 FET S AT A 0 T 1980 FFALBERI=EA -
e AT S B3R RIGRIVHIRE HBUWES (grow exponentially with a
constanl rate) »  FEEE] 2010 SEIH;-—/MEEH %L A?  15%
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1. The ordinal scale of measurement
A. Has a meaningful zero point,
B. Is based on ranks.
C. Cannot assume negative values.
D. None of the above.

2. In a positively skewed distribution which of the measures of central tendency is the
largest?
A. Mean
B. Median
C. Mode
D. Cannot tell from the information given.

3. A population
A. Must refer to people.
B. Is a collection of individuals, objects, or measurements.
C. Must be a large number of values.
D. None ov the above.

4.The mean of the all the sample means and the population mean will
A. Always be normally distributed. '
B. Characterized by the standard error of the mean.
C. Always be equal.
D. None of the above.

5. In which of the following distributes is the probability of a success usuaily small?
A. Binomial
B. Hypergeometric
C. Poisson
D. All distrubution

6. The difference between calculating the sample mean and the population mean is
A. We rank the observations and select the middle value for the population
B. We divide the sum of the observations by » - 1 nistead of ».
C. In the symbols only.
D. There are no differences.
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7 To conduct a test of hypothesis for dependent samples we assume that
A. The distribution of the difference between the paired observations is normal.
B. Both samples are at least 30.
C. The samples are unrelated.
D. Al of the above.

8.The ¢ distribution is used when the population distribution is normal and
A. The population standard deviation is also known
B. When the sample size is more than 30.
C. When sample size is less than 30 and the population standard deviation is
unknown.
D. Both A and B are correct.

9.The sample coefficient of correlation
A. Has the same sign as the slope.
B. Can range from -1.00 up to 1.00.
C. Is also called Pearson's 7.
D. All of the above.

10, Which of the following is not an assumption required for ANOVA?
A. The populations are normally distributed.
B. The populations have equal standard deviations.
C. The samples are independent.
D. All of the above.

11.Which of the following is nota characteristic of the F distribution?
A. It is a discrete distribution.
B. In cannot be negative.
C. It is based on two sets of degrees of freedom.
D. All of the above.

12 Which of the following is not a necessary condition for regression analysis?
A. The ¥ values are independent. -
B. The standard deviation of each of the conditional distributions must be the

satne.
C. The slope of the regression line is positive (increasing).
D. For each X value, there is a group of ¥ values and these ¥ values are normally

distributed.
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13.In testing the significance of individual regression coefficients -
A. The test statistic is the ¢ distribution.
B. We test the independent variables individually. .
C. We usually delete the variables where the null hypothesis is not rejected.

D. All of the above.

FHEE

14.A research organization is making a study of the selling price of home computers.
There are 45 computers in the study. How many classes would you recommend?

Why2(5%)

15. Refer to the following multiple regression cutput. (16%)

Predictor Coefficient St Dev T P

Constant -0.0916 0.1543 -0.59 0.560

X -0.0069 0.1754 -0.04 0.969

X 0.0902 0.2221 0.41 0.689

X3 -0.1381 0.1326 -1.04 0310

Xy -0.2273 0.1488 -1.53 0.142

Analysis of Variance

Source DF S8 i MS F Regression 4
2.7907 0.6977 1.31

Error 20 10.6793 0.5340

Total 24 13.4700

a. How many independent variables are in this study?
b. What is the sample size?
c. Determine the multiple standard error of estimate.

d. Determine the coefficient of determination.
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2. 4:R)E 8 (ecological footprint )

384T (edge cities)

4.vihbEE

58854347 (overlay analysis)

6.5k (knowledge economy)
TABAREBIGEER (invasion-succession cycle)

8 AT

9. 4185 (externalities)

10. MEEHREE (tax increment financing, TIF )

T AR TR o TR TR AR S TR e
B G A B (B~ 71 - 985 - 5D R 8 LR adiE
MBI BRI =0+ YORREHERER - (15% )

Z TERVEER ) ARV BUNHBYE IR - SRS - SHREE T
FI_RE -
1. GRS ESARRIRBCR AR B R TR ASTRIIEE ? ) ZBGRERS - (20
% )
2. PAREHEI ) BRERIETT ? 3R - (15% )
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5. If the aforementioned trend is real, how would you
investigate and analyze its causes? (In your answer, do not
go tao far into statistical methods)[20]

6. ML AN HM  SREBLARBEREAGH R KT &
R R AV AR EE T [20]






